
Subtracting up to 1000 with carrying (H - set 1)
SUBTRACTING UP TO 1000

Name:

Time: Score: /

381) 442− 253 = 391) 831− 378 =

382) 563− 447 = 392) 131− 23 =

383) 898− 496 = 393) 546− 122 =

384) 913− 690 = 394) 361− 202 =

385) 270− 229 = 395) 666− 532 =

386) 949− 649 = 396) 472− 152 =

387) 281− 124 = 397) 225− 208 =

388) 460− 436 = 398) 187− 41 =

389) 414− 66 = 399) 154− 29 =

390) 643− 423 = 400) 822− 820 =

Mathematics: Subtraction - Level 6 - Horizontal - Set 1 21 © workulum.com

https://www.workulum.com

